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— B2 D71 2T MW 72713 AR
He should state; 2>m = 7313, and everything is included

OVERVIEW

The Pt *27 810 expounds the P10 of 7AW T¥ MMM TV NWA 727237 172 RXAN RIAT OX
obw o on.' It is assumed that the words 72°13 and 01 are both 2595 and MW
WY AN are 20D, so we have a 9921 vI9Y 990, X2 explains that the (ultimate)
question of the n"7n is why the P05 needs to write (the 2°9%5 of) X¥nn xxn7. The
order of the questions and the responses of 1'"7n are:

1. let it say o°>m 7w 72713 (without 7w ) — it would only include manan v 1p.?
2. Just @M Y M 72033 (without Mnn) - it would include only 71922 wiTps 927,
3. Just @M MMM 7w MY 72°2 (not X¥AN X¥n:) — it would include only a»n *Hya.*
The n"7n argues but since it says already 211 (to include 11"v2) therefore the word
72713 includes everything, so why do we need Xxnn X¥ni. The X i rejects this
argument and maintains that since the last 99> is 0*n it can only include 1"¥2,
therefore we need the 0°9%5 of X¥nn X¥nn to make it a 2" which will include
everything. mdo1n discusses this 7wA7.

nooIn asks:
= PNYT RPYD 2550 PN 13929 NN D79D1) TUN 13934 290 INVY

TWwN 13921 from »''"17» asked the °''2. how could it have entered his mind -
- 5‘121‘1 Y 1922919 ©NY NV NANINT

That from the 2"1912 of 2%m =W 72%13, we should include everything (even non-
n"va) -

- £ Y992 NIN 19399 132391 190 N91 79999 199 NYN *H9h N9
for even if it would be a %921 v12 (not a 2"910) We would not have included
from this "5 only 1"'¥2 (since it says o»n) -

- *NI13 XYY YNYNT INNN 290 HH2) VY9 Y2 39D YA NV

13,20 (o°vown) mnw.

% Therefore we need 1w to teach us (since it is superfluous) that it need not be mama %y 27p.

? Therefore we need 771 to teach us (since it is superfluous) that it need not even be 771222 W17p.

* This may be either because all the 2°v7 are 1"va, or because the last %% of 21 means 11"y2 only.

> This is referring to question # 1 in the ‘Overview’.

® The n"27 Mman amends this to read, X7 instead of 7.

7 By a %921 v79 (such as 2»m M) we include everything that is like the %%, as opposed to a ™12 [such as 11 7273

o], where we include [not everything of the last 95] but anything which is similar to the vI5. A 9931 v is

(much) more inclusive than a 2"1912.

¥ The question is how can we have even assumed in the X"y, that the last %23 of 21 (which is seemingly limited to
1
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So now the n1"7n wants to include from a 17''121> more than the last ®%> (of o°°17)
indicates?!

N1B0IN answers:
- 7atn 5335 299 M523 AUITD 18 MNYIN SNAR PI0N KIT 1199 PNYS 19529 19 29w

And the s"9 answered WX ", since as of yet we have not entertained the

qualifications of 171222 WITP 73 or 121X 9237 2P -
= 0N YT¥2 Y91 V990 N 99N DN j2 ON

Therefore (at this point) if we would say, just as the ©v=5 singles out 1''va, etc. -
- %9991 1Pyan 9, BNT XINA Y993 019 PRY NNM)

It turns out that the final %95 of 2’17 has no more content than ‘like the v=p’ -
- 713933 199 937 93 YN NAY NI 595 BN 991 19 SR XN 1) IR

So therefore as a result we should assume that 217 is a 9> in the sense that it

includes everything (even non-11"v2) just a 71213 includes even non-n"va; we assume

this by following the pattern -
- 937 95 1YY 17530 W N5 11y 1998 oNa

That if it has no validity to actual 21 (for we already have M), apply 21 to
everything even non-n"ya.

moon offers an alternate explanation how 0»r can include even non-11"v2:
- 13]):‘.75‘1 23V PP¥3 19970 NNN NS Zmyarwn PYY 0N W93 IN

Or we can interpret the word 21 to be an expression of importance, like the
X3 later explains the word 01 to mean, ‘restore the principal as it was when
he stole it’ —

n"va) can include non-n"va. Even if it were a 9921 v9, which is more inclusive than a 3"1913, it still could not have
included something more than it is itself, namely o> or 11"va. This seems to be the exact same question the X723
asks later (see ‘Overview’); however WX " is asking how did we even manage to consider this in the X"17.
% At this point when the 11"7n ask let it merely state o°m MW 721, it assumed that the v of MW includes all n"va,
and it is not limited only to the n"¥a that have 77192 nw1TR or are mama 2y 27 (for if the v of MW has these
limitation how can the 11"7n ask initially it should only state 7w [if 7" has these limitations]).
19 At this point we are assuming that the v1577 T¥2 of 1% means all animals (see footnote # 9), and if the 95 of o»n
means (also) only animals; how is it a 993 compared to the v of MW; they both (merely) include all animals.
' 11y 1% o is an accepted method of exposition in the 7. If the concept has no application in its actual form,
apply it to elsewhere. Here too 0>n (as n"v2) has no meaning since we have M; apply it therefore to 127 2.
2 We will prefer to interpret it in this unusual manner (of m2wn), for if 01 means actually 1"¥a, we run into the
problem mentioned previously (see footnote # 10). The difference between this and the previous explanation is that
previously we say that 0’1 means everything because of 11y 11°X aX2 (see footnote # 11), now we are saying that 0>
can actually mean everything.
13 1,70. We derive from the word 0»n that the thief must pay the value of a stolen item as it was worth when he stole
it, even though now the item is worth less. When the 770 writes 02w "3 0> it means the payment must ‘live up’ to
the value it had when it was stolen. It does not refer to a live animal, but rather to a complete payment.
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mMdoIN responds to an anticipated question:'*
= 020 YJ¥a NIN V991 P¥IN MY N2 XD ONT Y92 YD) 9IRP 1907

And therefore the 11"7n say, ‘and everything is included’ (even non-11"v2), for if

we are including only 11''v2 who are similar to the ©v95 (of "> 1w), then the 710 -
- 090 %993 NN 9993 PV BN 5Y N3 1YY BN 13N KIN V99 DIV 2INDP NY

Should not write any w22, but merely write 29 ;72%3, so 72°13 will be the %>
and 2% will be the ¥v92 and we will derive 1"'¥3, from this v191 9. However since the

770 did write (the seemingly superfluous) o099, it is to teach us that the last 993 of o>°11 includes
everything (more than the ©¥7577 7°¥2 indicates) even non-11"y2 —

In summation: The 99> of 0»n cannot mean only 11"va for then it is the same as a v, therefore it
must mean everything. This 3"1912 cannot be interpreted v7577 7°¥2 to include only 11"v3, for then
the 77710 should not have mentioned any of the o°v7».

Mmoo anticipates a difficulty:
= NP NIDIY NN NDODD NINT XY XN 72997 XM

And this which the X713 asks; ‘but the last %> (of o>n, which is limited to living

things) is not similar to the first %95’ (of 7213 which includes everything) -
- 135307 999 1195 9347 52 yIWnN 0NT [ NPwraT] 23 Yy 9N

Even though that I explained that 21 (here) means everything just as the %92
of 112313 means everything; so what is the question of X7 X??!

mooIn responds:
= 0NN YYD VH9Y YYD MYYY PN MY PN 1NTY LY MYNWYNI DX 0PN 1)

Nonetheless the X773 asks a valid question that since the simple meaning of these
two terms (2> 712°13) are not similar it is not proper to utilize them as a '"1>.

mooIn reverts back to explain the answer of the 170 why it does not merely state 2°m W1 7271
- Tsmynwng 0rn Y59 PN N 22)D 299 NIPNIN NN NIYM

4 Granted that 21 is a Y3 which includes non-11"v2; nevertheless the 2°v1d are all 7"y2a (7w M Ww); we should be

727 (like any 2"1913) only ©197 1°¥3 which are 1"'v2, how can the 170 say 9931 %M (even non-n1"v2)?!

"> The rule by a vI91 %93 is VDAY 7 KIX 9992 PX; therefore it includes (only) anything which is alive. n9oWN

mentions that it should say o*m 172°13, the %25 and the v, for if it would say only the v, we may have been able to

derive other items (in addition to the v19) through some nw17; however now that there is 791995 we limit it only to

the v19, and we make no other mwn7.

'® mpown is referring to the two explanations given previously in this moown, that 0»n means everything (see

footnotes # 10-12).

" The only reason we initially thought that 2> means everything is because we assumed that the 2079 of 12 MW

are inclusive of all n"va (even those who are not maman Hv 299 [or not 711222 wiTp]), therefore 2 must mean

everything (otherwise what is it 7271); however now that the 0°v79 are limited to maran 2¥ 279 (or 771522 WITR) we
3
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And the 1"7n answers if it would only state 2m w1 72713, I would have thought
that the 19 of W is limited to include animals which are 72 "23® 2p and the

59> of 2711 is as its meaning indicates, namely 1"y2 -
- NAM Y239 12297 PRY 0N S92 INY 120901 1IN VI9N PYIN

And from v2977 1w> we exclude the rest of the animals which are not 23> 22vp

T -
- DNY 19939 Y99 AWM NI 5911 XINA XYM SVIWNY XNNX DI9N PYIT 0PN Y53 115

Just like everywhere where the w557 1> limits the last %95 (and applies the 127
only to 197 7°v2), so everything is understood according to the >''9 wyp.”

Mmoo anticipates a difficulty:
= 9952 951 BN MNINI DY NIV NA) 1IN 9INPT 20]1‘1!'\Nﬂ N

However regarding the last question (and answer) of the 11"7n where he says, ‘let

it say %9252 92571 29 MM WY MW 572935 and the reason why %922 937, is -
- 219593 951 NYNYY 990Y S¥a 5099 NINT T

That since he wants to say that everything is included in the %92 [of 2°17] on

account of the?* asump -
= 0N Y9¥a Y9I V9N 119 IIIN NN )2 N NUNP INN

So what does the X713 answer on this last question; ‘if it were so (it would only

state 7Y MAn MW 72°33 [no X¥nN X¥HA]) 1 would say n''wa w=pn vIB7 7% and we
would not include everything, but how can we say that -
- D990 9P IND 199N Maah X MO o K

Since because of the 2°v1p [the 9> of 2»11] comes to include even non-11'"'ya?!
Seemingly the question still remains if it would say 7wy mnn MW (which would force us to say
that 217 can include everything), why do we need Xxnn Rxni?!

Mo0IN answers:

can interpret 211 simply as live animals and nothing else.
18 The n"a7 N3 amends this to read w1757 instead of w1°03.
' We can understand question and answer # 2 (see ‘Overview’); let it say only a»m w) M 712°3 and we will know
everything (we cannot limit it only to nama %v 27p for why then does it also mention 7w); for if it is only for n"va let
it only mention 0°°m 72°13. The "0 responded, from the 2°v75 we would only know a 771522 W17pw 727 therefore we
need 7117 as well.
0 See question and answer # 3 in ‘Overview’.
! The n"a7 mman adds the word o»n; it should read o> 922
22 Once the 7730 mentions WY MR MW we cannot limit it only to mami ¥ 27p, because of nw; we cannot limit it to
71222 WP, because of Tan; therefore the 0°v1d coerce us to include all n1"'v3, this in turn teaches us that 01 means
everything for otherwise (as mentioned previously [see M50I1n by footnote # 10]) what is the 973 adding to the o°v73,
or why do we need the 0079 it should only state 0> 172°13 (see footnote # 15)..
2 The n"a7 maT amends this to read, 12?98 0”1 9293 N1175. See footnote # 22.
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- Bywpnn 2927 1an XY FyannnT pnys 19529 1IN

And the "1 answered that the yan» did not understand the words of the Jwpn» -
- 15927 w991 NNYY NOWID AN 1T AYPN TN

And the Jwpn repeats and asks the same question, and explains himself.

mooIN rejects this answer
- 73895 25N HNIYY XIN AN KN NN XINDID NHN0 1° PNT AN PN

But this does not seem plausible, for this is not in accordance with the flow of
the X=9mx that there was a Jwpn and a %70 who misunderstood each other), but
rather it is one (7°P117 °27) R1n, who is asking and answering to himself.

In summation: The °"7 maintains that the n"7n initially assumed that 2’1 must include
everything, since we did not assume yet the limitations of nmama %Y 297 and 771222 WYIp
(additionally if o> is limited to 1"va there is no need for 0v9; just write 0m 72°33).%* The only
difficulty is with the last answer of the n"7n, that it would be limited to 1"v2; how can we
reconcile this with the initial assumption.*’

mooIn offers an alternate explanation:
- aaY N3 XNYMT RONIY RINDT WIDY NN Y

Therefore this seems to be the explanation; for the 1"27 Xin came to explain

the 2°P109 in a ‘looser context’; meaning -
- 219950 s5ya PRYY DN 95¥A 192 DIYN PRY N 199987

** The yann is the one who answered; if it would only say 2m (M2m 7w1) M1 72213 we would include only 1"ya.

% The 1wpn is the one who asked; let it only say a»m (7am 7w1) MW 72713 (but not XXnn X¥nHT).

% In all the three questions of the jwpn his basis was that 0’11 cannot be limited to 11"¥2. The j¥7n did not understand

this and thought he is merely asking why so many 2°v79, so he answered him this v79 is insufficient, and this ©79 is

insufficient. See ‘Thinking it over’ # 1. Eventually however (by question # 3) the 7¥7n ran out of °¥17°n, so now he

dismisses the entire basis of the jwpn» that 0»n can mean everything. He does not respond to the logic of the jwpn (see

footnote # 22), but rather dismisses it out of hand and maintains that 21 means only 11"v2.

7 We can therefore not say that the 190 misunderstood the jwpn. The question remains since initially this Xin

understood that 01 must include everything (otherwise how did he begin this discussion), so why now at the third

question, does he contradict his initial assumption?!

28 Initially when we did not assume the limitations of 12 *2x% 277 and 771322 wY7p but rather the o°v19 included all

o»n 7v3, then 01 is interpreted to mean everything because otherwise it does not add anything as a 973 so therefore

it must include everything either based on 1¥ 11°X oX or because 0°°1 means a 2N 127. And even though the o°v1s

are all 0»n "5v3, nevertheless the >"1912 must include everything for otherwise why is there a 3"1913, there could have

just been the ™12 of 0> 72°13 to limit it to 7"v2.

¥ Just as initially when we assumed that 121 "% means all animals we were forced to assume that 0»n means

everything (see footnote # 10), so now also when the 770 writes 721 71 M (where it includes all animals [see

footnote # 22]) we must also assume that 0°°1 means everything.

% This is referring to the answers the 1"7n is giving to the (first two) questions [see ‘Overview’].

U If we will assume that there is a difference between n"va and non-n"ya then obviously there is no question why we
5
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That even if you will assume that there is no difference between 1''v2 and non-
n''va -
=951 199N DN 9P INDT DINN 1PVYNN N

And we do not exclude from the word 2’1, non-n1"'¥3, nevertheless you will still -
- %9 7Y NYNN RYNN 5 AYHM 1010 19 YVYVND 927 Y3 NN XY NIYT XVION

Not be able to include from the v75 of =92 anything which is J% 1213 Hubun,

so that you should be able to ask why do we require XX»n RX%77; it is not so -
- 2natn %335 2991 937 RN NWT NDI9M 19539 Y NNT

For (even if we do not distinguish between 11"v2 and non-11"v2, nevertheless) we

can include from the v75 of 22 only something which is r21% v25% 29p -
- %9 7129 NYHN RYNN 19 ONY 5992 5579 BN DY HINY NIYI N2 TN P5019)

And the 11"7n concludes (in question # 3) but let it say 2m 72 9 W 72%13, SO

everything will be included, and if so why do we require Rx»n Nx27 -
= 0N YY¥a Y9N V9N NN PN 2NN 19 ITIN YN

So the n"7n answers if it would be so (that there would be no X¥nn xx»7) I would

say that just as the v9p is explicitly 171''v3, so we would only include n"v3, for -
= 0N ’H¥a PRYY DN YA 122 PHNN 9NN DYV NN PRY NNY

Now that the 1"7n can find no other reason why we need X¥nn Xxni he

distinguishes between n"'¥3 and non-n"'v3 -
- 95N XY ON YWIN XY DYINN D0 1Y 1PHY NHNNA YaN

However initially when he had other reasons (why this 2"1912 [without X¥»7

Xxnn] is insufficient) he was not concerned if we did not differentiate between
n'"va and non-n"y2 -
= 00 J¥3 PRY MY NYNN RYND TPIVNN XNV

So now that we are distinguishing between 1"¥2 and non-11"va, we require XX
Xx»n to include non-n''va -

need X¥nn X¥ni since the entire 2"1913 is only discussing 11"¥2. However initially the 7¥7n wanted to be liberal and
say even if we do not distinguish between 11"'v2 and non-n"v3, we still need Xxnn X¥n:.
2 If we would be able to interpret the 175 of M by saying 117 1913 SubUni 727 WI5H VIO 71 so too anything which
is 737 1D Svoun is included in 795 (remembering that now we are not distinguishing between 1"v2 and non-n'"v3),
we would seemingly have the right to ask °2 72 Xxnn X¥ni since we are deriving everything from the 5"913 of 72°13
2»m 121 MW; why mention X¥»n &x¥n7. The 1"7n negates this.
* Even if we ignore the distinction between 11"y2 and non-ni"y2 we cannot ignore the specialness of mam >3 27p.
See ‘Thinking it over’ # 2.
3 We cannot exclude something which is not mam 237 2p, because it states 7w (in addition to "W); we cannot
exclude something which is not 7171522 w17p for it states 711 (in addition to W), we cannot limit it to 1"v3, for as of
now we are assuming that there is no distinction between 11"v2 and non 11"v3, so this 3™913 of >»m "121 MW 721 is
sufficient to include everything.
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mMooIN continues explain the XA
=099 91 D3 57 NN MIN DN 291 DN N NINWI 0N YD¥a NXYANY 9 W N 79999

And the x7723 asks (if it would not say Xxnn X¥»7) what would you include from
the 2'"192; animals?! But we know that animals are included because it states
2%17 in the 7105 so why do we need all these 2su1p?!

- %529 95 M295 5991 V99) Y93 YWIT9 1333 BPN SIN I RN
Obviously how can we uphold '72%3'; meaning how can we uphold the
legitimacy of the 2"12 only by including everything otherwise the 3™ is
meaningless, so the question remains why do we need Rxnn X¥n:.

In summation: this explanation (the w197 7871 192) maintains that the 1"7n initially took a liberal
approach that 1"va and non-n"ya are the same. Therefore we thought that the 995 of o»n is not
limiting to 11"¥2 only. And we can rightfully ask why we need Xx¥nn xx¥n7. Initially the 1"7n argued
that we cannot derive everything from the 0°79, since there are other limitations (such as 237 27p
namm and 77022 W1TR), however the X i asked that if all the o°v79 were stated there would be no
limitations, so why do we need Xxnn X¥ni1? At this point the r1"7n retracted its liberal interpretation
of 0 and said but 21 means only 11"¥2 so without &¥nn X¥»7 we would not know 11"va. The 11"
challenged back but you cannot mean that without the Xx¥nn Xx¥»n7 we would limit the 2™ to
include only n"y3, for why does the 7N write the o°v7» at all, it should merely state 0»m 72°22.%°

mMooIn continues with an additional question from %"279% WX ":
= 919919 115D 1N 0N YHYA W9NI VY9N NI 99D TN INNINT IINY NI

And additionally "% wx " asked; why did the X771 need to respond (to the
question, let it state 71 a0 MW) that if it would say only this without XXnn RXni7 we

would assume just as the v9p specifies 17''v3, etc.; the X721 should have said instead -
= 72910 MO MMINNY XNLN INYAIY 927 YNON DIDN NN MIN NN 19 99N

If it would be so (that he mentions 721 7 W), I would have said, just as the
vap specifies something whose carcass is X»w», and the 3"910 would come to

include 29972 NIBW and exclude 2Ry MW that are never Xnun; the advantage of this
response is -

% This is in agreement with the *"79 previously (see footnote # 22). See X"w1n.

36 Both interpretation deal with the same issue; how can we have assumed that the 2"1213 includes everything when
o means 11"¥2. The >"1 maintains that initially we thought that (even though 0n means 11"v3, nevertheless) in this
case it cannot mean n"y3, for then what is the 775 adding to the v5. However the w157 7871 197 explains that for
whatever reason initially we did not think to differentiate between 11"'va and non-11"v2a since we can always explain
why we need X¥nn Xun7 (because of the other restriction of nam *23% 27p and 7711522 ¥17P). However when these
reasons were negated the, 11"7n retracted its liberal interpretation of 21 and insisted that it excludes non-r1"va.

7 maoin does not say that the 1157 Py2 should be Xwna1 y3a Xnunw 727 and exclude also 27 MDW, because then
the word 71w would be superfluous (see *"19 and the X3 on the "2 7Y mentioned later in this mMaon [footnote # 51]).
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- 5915 MAN BN 591 DN PIN NITY 10 P1IWPNY 581 »H XYY
That the X773 could not have asked again; ‘but when it states 2> so n''v2 are

included, etc. -
= NN N¥ID TP908N 929U

And therefore Xxn»n R¥%7 is required to include everything/2 xnv nmow.

MooIN answers:
= NIV T8 939D AT MTNT 1T PRY XIND NT 92107 PNYY 13529 99IN)

And the °"'9 answered, that this Xi1n maintains that we cannot have this ruling

(of what is included in 997) dependent on the 1821 aspect -
- oyt AYY5an 1533 N1 RYNDY NI NTY INTA 9N NPIYN ARMVY 119

Since there is a very large discrepancy in the nx»w status, for this one
(meaning 121 W) is X»w» by touching and carrying it, and this one (M7V W) is
Xnvn only in the throat.

In summation: The X3 could not have said Xnvn N2 927 WDH V0T "1 and thereby exclude
o°Xnu MW and include 217w Mo, for the commonality of the 72°21 N of MMM 7w MY (which
are Xwn21 ¥yaaa Xnvn) are different than the 79°21 Nk of an 719, which is only 17¥°9277 N°22 Rnawn.

mMooIn mentions an additional question posed by 2" 1191 WK ":
= 1190 ROUD NP NSNH NENN ONT 9999109 N9 79D 110D IORY 1

And 519 wk M also asked, why was it necessary for X321 to say that the

question of the 11" is why the 7710 writes RXnn RX2;7 -
— 99 712933 Y9 ONEI9aN 9931 TI9NY TN

And therefore it was necessary for X237 to invert the words of the Xn>92, and say

let it say =M 572513, not like the Xn>™3 states, let it say 72710 MW; instead -
- o Pxenn XND ORNRY H099 2910 55 7Y HWIIDY RN NYPINT N1IMY

¥ When the n"7n asked that it should say 7w 2mn MW, they answered that it would only include n"ya since all the
o070 are n"¥a (therefore we need Xx¥mn X¥ni). This answer was challenged that we cannot say that it comes to
include 11"va for this we know from 2™ alone, so the 5"1910 must teach us that everything is included. However if
the X723 would have said (not 1"va wa9n 097 77, but rather) Xnabn NPAW 727 WNDA VDT 77, SO DRAV NIDW are
excluded and that is the purpose of the >"1912, we could not ask but it says 0°°11, so n1"¥2 are included for the thrust of
the 2"19713 is to limit the 275 to only 0> MoW, therefore we require X¥nn X¥1:I to include DXy M.
¥ We want to have the 5"91 include 010 oW (and exclude o°xnv MoWw) based on the similarity between o170 NdW
and "21 w. However the similarity is too broad since they differ greatly in their specifics (MM MW are  ¥3a2 Ko
Xwn21 and an v AW is only 1¥°227 N33 Xnvn), so it is unlikely that this is what the ™15 is teaching us (for then
perhaps one v should have been 717). It is more logical to assume that it teaches that all living things are included.
% See bottom of 2,30 where the 1"7n say 922 Y97 72710 MY K.
* These refer to the 2°v75 of 7w Mmn M and 00 which is a V19 according to this suggested 2.
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Let X271 say that 7°21 comes merely to explain why we need all these 2°v92 (of

7Y A Y and o), and the 1"70 depends on the 975 of Rx»n N2 -
- 119 1T 0NN MYYI WA SYANRT 1YY X220 PPN %3399

And the 1"7n agree with the X27y» 12 who say regarding two nY»%> which are

close to each other (like x¥nn x¥»:7 and 72°337) and there is no v between them -
- V999 Y593 01 ©Nra VY9 HVN

Place the uv2 between these two 0°972 and interpret them as a 5521 w151 59> -
= 9952 D91 NN NIV RENN IR 9INRD 991

And this is what the 1"7n say, ‘let the 770 state 8x»77 (which is the 593) and "W

(the v19) and m2°33 (the final %%5) and everything will be included’; why do we
need the 2°07d of 7w M and 0™R?

mdoIN responds to an anticipated difficulty:44
= DTN %2 YT NN NI2TT MY %YW IND 2PUN KD NN N¥NN YAN

However the n"7n does not consider Xx»n X3%7 as two n»»a, but rather as one
993, and the double expression of R¥nn R¥»;7 can be ascribed to the rule that the
71790 speaks in the language of man —

mooIn continues with the explanation of the X773 according to the question of 2" 1791 w"R:
= INN ND MY YW O NIINY IYUNT NIUN)

And the 1"7n answered that from =72 alone together with two 2°5%> we cannot

derive everything, for we will exclude anything which is not 72 239 2p -
= 9952 DN NN DY NI NYI RENN 9NN PI0N9)

And the 1170 concludes, but let him say 772313 7@ 992m 912 X327 (but not 2™n)

so all we be included; to which he replied -
= 0N HYa YNN VDN NN IIIN NN 19 IPN

If it would be so, I would have said, since the v7p is w1572 only 2»n w2, we

could not derive everything -
= MMN 0N 291 02N 9N NINYI 929V 0» 0N NV

And now the 1"7n conclude properly, ‘when he says the v5 of 2%»n so live

animals are included’ -
= 999Y NN’I2T NIPON SNN M 927 D5 MY V99 YD D»PNI N NN RN

So how can we uphold the 5721 5"15 of 121 X¥nn RX¥»7 and 72°13 only if we include

2 To remind ourselves the P09 reads 09w 07w 0™ 7w 7Y MAR TY MW 727137 17°2 K¥HN X¥»7 ox. The 770 maintains
that Xxnn X¥»71 is the first 975 and 72°137 is the last 973; see further.
* See 1,70.
* Seemingly we have three 0°992; 72°337 .3 ,X¥2N .2 XYM K.
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everything. And now the conclusion of the 8n»2 is properly understood -
- @195 DYy RNID XN PN DY NOUH KD NN NYNNT NI YI9NY N1 2991

But according to the way X239 explains the 1"7n that he had a difficulty with

Nx»n Rx»7 (that it is unnecessary), the 8n»»92 itself does not answer anything,
why we need X¥nn Xxni!

An additional advantage of this ¥17° from 5"°11%1 WK ":
- %959 593 YAN MYN N22NY BND MY 9TV N1 ON

And it will also work out properly that he mentions "% before 772%13."

In summation: the question is why cannot we say that the n"7n assumes that the two 0°9%3 are
X¥mn Xx¥na and 72°137, and the discussion is only regarding the need for all the 2°v79 of 7m0 W
7w and o1

N1B0IN answers:
- 1N 933 YWD NN N92T MY PRT NTN PHYS 13929 99 YN

And the "1 replied to 51191 WX '; firstly we do not say X''13 33> 7730 77927 -
= 12 IND TPINNY PPN 9NN 12393 91990 TYIAN INY DIPNA NON

Only in a place where it is impossible to say otherwise (but here we can say that
they are two 0°992 as X127 explains it); and here is not the place to elaborate on

this matter (when do we say X"12 W95 770 7727 or not)-
= 99IN 1 19 19N 15 9192 19N NN 19 ORT MY

And furthermore how could the 11"7n have said, if it would say so (712m W), I

would say -
= 1999323 WITPI NI 2)T 29D W9N VION NN

Just as the v1p specifies 771222 WITPY 722 9239 279 so too we can include only these

types; but he could he have said that -
= 7157 199397 N2 LYY NI MY NT TINNDN MY NWT NIN INN 9207 13 TN DY XN

For perforce since this Xin maintains that when there are two m%»> near each
other, we interpret them as a v ’1:*ﬂ,49 not as a v 993 -

* See at the top of the 'a Tmy; the X m asks after the entire 170 is explained "% Xwp 15w *371 °X; indicating that we
do not have an answer explicitly in the Xn™12 of 1"7n why we need Xx¥nn Xxnm.
% According to this suggested w1s the first 995 is X¥an X¥n the 2°v7d are 00 191 M and the last 592 is 7273,
therefore the n"7n properly writes 1 21X (the v9) and then 72°13 (the final 973).
* This suggested w17 of 2"1%9» WK " cannot be the correct w19 in the XN of 7", since X127 says a different
wD; the 2" 1171 w"KRA is merely wondering why X371 did not say his w170,
8 Therefore we remain with the difficulty that there is an extra 973 here (see footnote # 44).
* See footnote # 50 & 51.
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— 934 55 135391 1IN MY5 2N 9 BN
Therefore from the two n%»> (of X¥an X¥»7 and 72°1%) we would have included
everything -
- N29¥1 )25 ©13°2 V99 HVN MY NI*Y XNT
For here we cannot say place the v9» between them as the X39y» 512 say
17103 1799975 %Y Anb AW MYY AYPN 19 ONT
For then there will be the difficulty why mention 7w as the X773 asks later.

SUMMARY

Initially the r"7n did not respond that we cannot derive everything from the 3"1912
of 01 21 MW 12°1), since 0> 1s limited to 11"V, either because the 2’075 force us
to assume that here 01 includes everything (°"19), or because initially the 1¥7n
took a lax attitude and thought he can answer the question even if we do not
distinguish between 11"v2 and non-11"y2.

THINKING IT OVER

1. The >"1 answered 5" 1791 X" that the y2nn did not understand the words of the
7wpn.”? However if the 770 thought that the Twpn was merely asking him why we
need so many 2°979, he should have answered him for otherwise we could not derive
from this 51913 more than the last 523 of o»n, as ""119 X" asked initially?”’

2. How can we understand that even when (regarding 95) we do not distinguish
between 11"va and non-n"v3,>* nevertheless we will distinguish between °23% 297 727
nam (or 7M222 WP 127) and something which is not 172 237 297 (or not WP
7M022)?

*0 By a "127m vy M2 we include everything except we may exclude one item for each 5. We therefore cannot say
that if the 770 would only write 2w we would exclude something which is not mam »23% 29p, we cannot make such an
exclusion regarding a 7"mM. Therefore we cannot assume the suggested w10 of 5"1%»n w"X7 for he maintains that
initially n"n put the o°v79 between the 0793 of X¥nn X¥»7 and 712°1, which would make nw superfluous, which in turn
forces us to interpret it as a 2", which in turn does not allow us to exclude from W something which is not *23? 27p
nam. However, according to X2 the entire n"7n assumed that it is a 3913 and 2°m 72°13 are the 0°9%3, in which case 7w
is not superfluous, and we can say in a 3915 that 112m >33 217 127 W5 VIO N,

>' See on the 'a Ty that the X3 concludes that if X¥»n X¥n7 are the two 0°%93 and the 2°07D are 2»M 7w MR MW,
then the v12 of 7V is superfluous (¥">v). The same will apply if the 1"7n assumes that X¥»n X¥n7 and 72°13 are the
two 0'973, the v of mw will be superfluous, therefore it must be interpreted as a »12°7 ¥ M2,

>* See footnote # 26.

53 See TR X"wAN.

3% See footnote # 33.
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